Graphing Sine and Cosine

You can plot the values of the quadrantal angles from the unit circle to graph 5 key points of one cycle of the function.
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Example: Graph 1 period of the function  f(x) = 4 cos (Zx + §) -3

Step 1: Identify the transformations and period.

y=Acos(Bx—C)+D - f(x)=4cos<2x—(—

Step 2: Start with the 5 key points for cos 8 for one period, then convert points.
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Step 3: Plot points and graph:
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New x-values:

C
Divide by B, then add E \

and so on.
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Note also you can find
the change in x values by period/4 — > T
so the change in x is /4 3 =7
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Graphs of the Other Trigonometric Functions

f(6) = tan(6) :
|
6 f(0) :
T |
— — | undefined |
2 [
|
-2 - | | |
4 -311/2 <t -n12 m 317/2
0 0 |
|
T
_ 1 |
4 |
|
T
— | undefined I
2 |
I
y sin@ T .
tanh = = = Asymptotes: x =—+mk Period:
x cosf 2
£(0) = cot(8) i
34 |
|
6 f() [
21 |
0 | undefined |
14 |
L2 I |
4 |
n m/ 0 m/ W 3m 2
T |
5 0 14 |
|
2l |
3_n -1 |
4 |
o | I
1 | undefined |
x cosf
cotd = —=— Asymptotes: x = mk Period:
y sinf

MathTutorNotes.com



Graphs of the Other Trigonometric Functions
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